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y (t)

∣∣∣2 = J %
x (t)J %

x

∗
(t) + J %

y (t)J %
y (t)

∗

=
∣∣∣J %

BP,x(t)
∣∣∣2 +

∣∣∣J %
BP,y(t)

∣∣∣2 = J %
BP,x(t)J

%
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∗
(t) + J %

BP,y(t)J
%
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(t)
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[
J11(ω) J12(ω)

J21(ω) J22(ω)

]
���� !

��� ����� ���	�� �� ��� 
�����	
�	� �� ��� �	�����	 ���
���� �� ���
�	�
�� ������ ����	��

"�
� �� ��� �������� �	� 
��
��� �
���	 �	�����	 ���
����� �� ��� #��	��	 ������ $� �
��
��

������ 
������ ��	���� �� �
��
�� ������ 
�� ���� �� ���
	���� �� � ���
�� ���	��%��
��	

�����
��
������
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J *(ω) =
1

2
J(ω) − j

1

2
H{J(ω)} ����+!

�J
*

out (ω) = J(ω) · �J
*

in (ω) ����,!

�J
*

out (ω) = J *(ω) · �J
*

in (ω) �����!
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J *
BP (ω) = J *(ω + ω0) �����!

�J
*
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BP (ω) · �J

*
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−J∗
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⎢⎢⎢⎣

S0

S1

S2

S3
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I

I0 − I90

I+45 − I−45

Ilcirc − Ircirc
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�S =

⎡
⎢⎢⎢⎣

|Jx|2 +
∣∣Jy

∣∣2
|Jx|2 −

∣∣Jy

∣∣2
1
2

∣∣Jx + Jy

∣∣2 − 1
2

∣∣Jx − Jy

∣∣2
1
2

∣∣Jx + jJy

∣∣2 − 1
2

∣∣jJx + Jy

∣∣2

⎤
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φ = arg

(
1

2
S2 + j
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2
S3
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⎡
⎣

√
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2
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χ = arctan
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∣∣ / |Jx|
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φ = arg(Jx · J∗
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�j =

[
cos(χ) · e+j 1

2
φ

sin(χ) · e−j 1
2
φ

]
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